ORIGINAL

RESOLUTION

A RESOLUTION APPROVING A CONTRACT WITH SWALLOW CONSTRUCTION CORPORATION FOR PROJECT 21-19, OAK PARK AVENUE WATER AND SEWER MAIN IMPROVEMENTS - SOUTH CONTRACT, IN AN AMOUNT NOT TO EXCEED \$2,415,524 AND AUTHORIZING ITS EXECUTION

BE IT RESOLVED by the President and Board of Trustees of the Village of Oak Park, Cook County, State of Illinois, in the exercise of their home rule powers, that the Contract with Swallow Construction Corporation with offices in West Chicago, Illinois for Project 21-19 Oak Park Avenue Water and Sewer Main Improvements - South Contract, is approved in an amount not to exceed \$2,415,524, and the Village Manager is authorized to execute the Contract in substantially the form attached.

THIS RESOLUTION shall be in full force and effect immediately after its passage and approval as provided by law.

ADOPTED this 16th day of February, 2021, pursuant to a roll call vote as follows:

Voting	Aye	Nay	Abstain	Absent
President Abu-Taleb	/			
Trustee Andrews	/			
Trustee Boutet	/			
Trustee Buchanan	1			
Trustee Moroney	/			
Trustee Taglia				
Trustee Walker-Peddakotla				

APPROVED this 16th day of	Eebruary, 202	
	\wedge	
ATTEST	l	Anan Abu-Taleb, Village President
Vicki Scamon Vicki Scaman, Village Clerk		



- 1. THIS CONTRACT is entered into this _____ day of February, 2021 by and between the Village of Oak Park, 123 Madison St., Oak Park, IL 50302 acting by and through its President and Board of Trustees and Swallow Construction Corporation, with offices at 490 Topsoil Drive, West Chicago, Illinois 60185, its executors, administrators, successors or assigns (hereinafter "Contractor") in an amount not to exceed \$2,415,524.
- 2. The following documents set forth the terms of this Contract and are incorporated herein:
 - The Village of Oak Park's Notice to Bidders, Special Provisions and Plans for Project 21-19 Oak Park Avenue Water and Sewer Main Improvements- South Contract ("Project"); Addendum 1 dated January 25, 2021; and
 - h. Contractor's Proposal dated February 1, 2021; and
 - c. The Contract Bond.
- Where the terms of the Contractor's Proposal conflict with the terms set forth in the Village's Notice to Bidders, Special Provisions and Plans, the Village's Notice to Bidders, Special Provisions and Plans shall control.
- The Contractor shall at its own cost and expense perform all the work, furnish all materials and all labor necessary to complete the work in accordance with the terms of this Contract and the requirements of the Director of Public Works or the Director's designee.
- The Contractor shall pay not less than the general prevailing rate of hourly wages for work of a similar character on public works in Cook County, Illinois, and not less than the general prevailing rate of hourly wages for legal holiday and overtime work, to all laborers, workers, and mechanics, employed of the Project pursuant to the Illinois Prevailing Wage Act.
- The Contractor affirms that the individual signing this Contract is authorized to execute this Contract on behalf of 5. the Contractor.

IN WITNESS WHEREOF, the parties hereto have caused this Contract to be signed by their duly authorized representatives on the dates set forth below.

VILLAGE OF OAK PARK Cara Pavlicek By:

Village Manager Its;

Date:

SWALLOW CONSTRUCTION CORPORATION

ATTEST

Vicki Scaman By:

Village Clerk lts:

ATTEST

REVIEWED AND APPROVED



BOND# 5938370

Project: Oak Park Avenue Water And Sewer Main Improvements - North Contract 21-20

Contract Bond

Swallow Construction Corporation, 490 Topsoil Drive, West Chicago, IL 60185	, as PRINCIPAL, and
Old Republic Insurance Company P.O. Box 789, Greensburg, PA 15601-0789	, as SURETY, is held
and firmly bound unto the Village of Oak Park (hereafter referred to as "Village") in	
-Two Million Four Hundred Fifteen Thousand Five Hundred Twenty Four & No/100- (\$2,415,524.00)- well and trul	y to be paid to the
Village, for the payment of which its heirs, executors, administrators, successors and assigns, are boun	d jointly to pay to the
Village under the conditions of this instrument.	

WHEREAS, THE CONDITION OF THE FOREGOING OBLIGATION IS SUCH that, the Principal has entered into a written contract with the Village, acting through its President and Board of Trustees, for the construction of work, which contract is hereby referred to and made a part hereof as if written herein at length, and whereby the Principal has promised and agreed to perform the work in accordance with the terms of the contract, and has promised to pay all sums of money due for any labor, materials, apparatus, fixtures or machinery furnished to such Principal for the purpose of performing such work, including paying not less than the prevailing rate of wages in Cook County, where the work is for the construction of any public work subject to the Prevailing Wage Act, and has further agreed to save and indemnify and keep harmless the Village against all liabilities, judgments, costs and expenses which may in any manner accrue against the Village in consequence of granting such contract or which may in any manner result from the carelessness or neglect of the Principal, his agents, employees or workmen in any respect whatever; and has further agreed that this bond will inure to the benefit of any person, firm, company, or corporation, to whom any money may be due from the Principal, subcontractor or otherwise, for any such labor, materials, apparatus, fixtures or machinery so furnished and that suit may be maintained on such bond by any such person, firm, company, or corporation, for the recovery of any such money.

NOW THEREFORE, if the Principal shall well and truly perform the work in accordance with the terms of the contract, and shall pay all sums of money due or to become due for any labor, materials, apparatus, fixtures or machinery furnished to it for the purpose of constructing such work, and shall commence and complete the work within the time prescribed in the contract, and shall pay and discharge all damages, direct and indirect, that may be suffered or sustained on account of such work during the time of performance thereof and until the work shall have been accepted, and shall save and indemnify and keep harmless the Village against all liabilities, judgments, costs and expenses which may in any manner accrue against the Village in consequence of granting such contract or which may in any manner result from the carelessness or neglect of the Principal, his agents, employees or workmen in any respect whatever; and shall in all respects fully and faithfully comply with all the provisions, conditions, and requirements of the contract, then this obligation will be void; otherwise it will remain in full force and effect.

	15.1.1 mave caused this institution to be signed by their respective
officers this 26th day of February, 2021 , 2021	•
Swallow Construction Corporation	
NAME OF PRINCIPAL	
By: Atthony January	
Signature	
By: Suttrance Mandance	
Printed Name	
Its: Laident	
Title	
Subscribed to and Sworn before me on the	
1 0 51	
26th day of February , 2021.	
Dander & Ellant &	Official Seal
Notary Public	Sandra I. Chiquet
Old Republic Insurance Company	Notary Public, State of Illinois Superior State of Illinois Superior Superi
NAME OF SURETY	My Commission Expires 07/12/2021
By: XQ //	
Signature of Attorney-in-Fact James I, Moore	
Subscribed to and Sworn before me on the	
	SHERRY BACSKAL
26th day of February 2021.	OFFICIAL SEAL
	Notary Public, State of Illinois
L'MULLI LLE. 1 1888	My Commission Expires
Notary Public Sherry Baeskai	October 22, 2023



POWER OF ATTORNEY

Chance E. Cherry

KNOW ALL MEN BY THESE PRESENTS: That OLD REPUBLIC INSURANCE COMPANY, a Pennsylvania stock insurance corporation, does make, constitute and appoint:

James I. Moore

its true and lawful Attorney(s)-in-Fact, with full power and authority, not exceeding \$50,000,000, for and on behalf of the Company as surety, to execute and deliver and affix the seal of the Company thereto (if a seal is required), bonds, undertakings, recognizances or other written obligations in the nature thereof, (other than self-insurance workers compensation bonds guaranteeing payment of benefits, asbestos abatement contract bonds, waste management bonds, hazardous waste remediation bonds or black lung bonds), as follows: Execution Date: February 26, 2021

Surety Bond Number: 5938370

ORSC 11008 (8-93)

Principal: Swallow Construction Corporation

Obliges: Village of Oak Park

and to bind OLD REPUBLIC INSURANCE COMPANY thereby, and all of the acts of said Attorneys-in-Fact, pursuant to these presents, are ratified and confirmed. This appointment is made under and by authority of the board of directors at a meeting held on March 14, 2014. This Power of Attorney is signed and sealed by facsimile under and by the authority of the following resolutions adopted by the board of directors of the OLD REPUBLIC INSURANCE COMPANY on March 14, 2014.

RESOLVED FURTHER, that the chairman, president or any vice president of the Company's surety division, in conjunction with the secretary or any assistant secretary of the Company, be and hereby are authorized and directed to execute and deliver, to such persons as such officers of the Company may deem appropriate, Powers of Attorney in the form presented to and attached to the minutes of this meeting, authorizing such persons to execute and deliver and affix the seal of the Company to bonds, undertakings, recognizances, and suretyship obligations of all kinds, other than ball bonds, bank depository bonds, mortgage deficiency bonds, mortgage guaranty bonds, guarantees of installment paper and not guaranty bonds. The said officers may revoke any Power of Attorney previously granted to any such person. The authority of any Power of Attorney granted by any such officer of the Company as aforesaid shall not exceed fifty million dollars (\$50,000,000.00), except (a) bonds required to be filed as open penalty bonds, and (b) bonds filed with any court or governmental authority requiring an unlimited penalty in bonds filed in that court.

RESOLVED FURTHER that any bond, undertaking, recognizance, or suretyship obligation shall be valid and binding upon the Company

- (i) when signed by chairmen, president or anyvice president of the Company's surety division and attested and sealed (if a seal be required) by any secretary or assistant secretary; or
- (ii) when signed by a duly authorized Attorney-In-Fact and sealed with the seal of the Company (if a seal be required).

RESOLVED FURTHER, that the signature of any officer designated above, and the seal of the Company, may be affixed by facsimite to any Power of Attorney or certification thereof authorizing the execution and delivery of any bond, undertaking, recognizance, or other suretyship obligations of the Company, and such signature and seal when so used shall have the same force and effect as though manually affixed.

Company, and such signature and seal when so used sit	ali nave the same i	orce and ellect as	uloogii niana	any amzeu.		
IN WITNESS WHEREOF, OLD REPUBLIC INSURANCE be affixed this 1st day of Octo		caused these pres	ents to be sig	ned by its prope	er officer, and its cor	porate seal to
Jane E. Pheny		SEAL)	OLD REPU	Alex B	PANCE COMP	ANY
STATE OF WISCONSIN, COUNTY OF WAUKESHA - SS		The state of the s		110511		
On this 1st day of October	2018	personally came t	before me, A	lan Pavlic		
and Jane E Cherney	, to me know	vn to be the individ	duals and offic	ers of the OLD	REPUBLIC INSURA	
COMPANY who executed the above instrument, and they ear and say: that they are the said officers of the corporation afore corporate seal and their signatures as such officers were duly organization.	esaid, and that the	seal affixed to the	above instrun	ent is the seal	of the corporation,	and that said
3.	10 14 P		*	Tother	R. Georgo	n.
			My Commis	sion Expires:	September 28,	2022
CERTIFICATE		(Expiration	of notary's	commission d	oes not invalidate	this instrument
I, the undersigned, assistant secretary of the OLD RE attached Power of Attorney remains in full force and has no Power of Attorney, are now in force.	PUBLIC INSURAL ot been revoked;	NCE COMPANY, and furthermore,	a Pennsylvan that the Reso	la corporation, olutions of the	CERTIFY that the board of directors	foregoing and set forth in the
Signed and sea	aled at the City of E	Brookfield, WI this	26th	_day of	February	2021



BIDDERS NEED NOT RETURN THE ENTIRE PROPOSAL

Project Name:

Oak Park Avenue Water And Sewer Main Improvements - South

Contract

Project Number:

21-19

Location:

Oak Park Avenue from Roosevelt Road to Jackson Boulevard in the

Village of Oak Park, Illinois

Submitted to the President and Board of Trustees

490 Topsoil Drive
Address

Wast Chicago, II. 60185

City



Notice to Bidders

Time and Place of Opening of Bids

Sealed proposals for the improvement described below will be received at the Office of the Village Engineer, Monday through Friday, 8:30 A.M. to 4:00 P.M. at 201 South Boulevard, Oak Park, Illinois 60302 until 10:00 A.M. Monday, February 1, 2021 at which time the proposals shall be publicly opened and read.

Description of Work

Name: Oak Park Avenue Water And Sewer Main Improvements – South Contract

Location: Oak Park Avenue from Roosevelt Road to Jackson Boulevard in the Village

of Oak Park, Illinois.

Proposed Improvement: In general, the improvements consist of the installation of ductile iron water main, including valves, domestic services lines, fire hydrants, and precast valve vaults; installation of sewer main, Cured In Place Pipe (CIPP) lining of combined sewers main, precast manholes and drainage structures; pavement patches at utility excavations, curb and gutter, sidewalks, restoration of landscaped parkway areas; and all appurtenant work thereto.

Bidders Instructions

1. Plans and proposal forms may be obtained via the electronic service starting on Monday, January 11Th, 2021 at 4:00p.m., which can be found at https://www.oak-park.us/your-government/budgetpurchasing/requests-proposals or at www.questcdn.com under login using QuestCDN number 7441108 for a non-refundable charge of \$30.00. Contractors must purchase bid documents and be shown on the Bidder's Planholder List in order to bid. Bids received from contractors who are not in the Bidder's Planholder List will be rejected. The Village of Oak Park reserves the right to issue plans and specifications only to those contractors deemed qualified. All prospective bidders must prove they are pre-qualified by the Illinois Department of Transportation by providing a certificate of eligibility to the Engineering Division at which time a password will be issued for access to the online bid documents. No plans will be issued to prospective bidders after 4 P.M. on the working day preceding the opening of bids. The electronic VirtuBid™ online bidding platform for this specific project will be opened approximately one week prior to the bid opening date.

- At the bid opening, all proposals <u>must</u> be accompanied by a proposal guaranty in the amount of 5% of the bid amount. The proposal guaranty shall be in the form of a bid bond executed by a corporate surety company or a bank cashier's check.
- 3. The awarding authority reserves the right to waive technicalities and to reject any or all proposals as provided in Article 102.01 of the 2016 "Standard Specifications for Road and Bridge Construction," prepared by the Illinois Department of Transportation.
- 4. The work to be performed pursuant to this Proposal is subject to the Illinois Prevailing Wage Act, 820 ILCS 130/0.01 et seq.
- 5. Bidders need not return the entire proposal when bids are submitted. Portions of the proposal that must be returned include the following:
 - a. Proposal Cover
 - b. Notice to Bidders
 - c. Contract Proposal (I)
 - d. Contract Schedule of Prices Form (II) (if required)
 - e. Proposal Bid Bond (III) (if required)
 - f. Contractor's Certification (IV)
 - g. Tax Compliance Affidavit (V)
 - h. Fair Employment Practices Affidavit of Compliance (VI)
 - i. Village of Oak Park EEO Report (VII)
 - j. Participation Statement
 - SCHEDULE C: Village of Oak Park Letter of Intent From MBE/WBE to Perform as a Subcontractor, Supplier, and/or Consultant
 - SCHEDULE D: Village of Oak Park M.WBE Participation
 - k. Affidavit of Availability

Note: All proposal documents, including Proposal Guaranty Checks or Proposal Bid Bonds, should be stapled together to prevent loss when bids are processed.

	By Order of
RETURN WITH BID	Bill McKenna, Village Engineer



Proposal

RE	ETURN WITH BID
Pro	oposal of Swallow Const. Corp.
_	for the 21-19 Oak Park Avenue Water And Sewer Main Improvements - South Contract as noted
he	rein and the performance of all appurtenant work thereto.
1.	The plans for the proposed work are those prepared by TERRA Engineering, Ltd. dated January 11, 2021.
2.	The specifications referred to herein are those prepared by the Department of Transportation and
	designated as 2016 "Standard Specifications for Road and Bridge Construction" and the
	"Supplemental Specifications" there to, the "Standard Specifications for Water and Sewer
	Construction in Illinois", and the "Manual for Uniform Traffic Control Devices", adopted and in effect on the date of invitation of bids.
3.	The undersigned agrees to accept, as part of the contract, the applicable Special Provisions indicated
	on the "Check Sheet for Supplemental Specifications and Recurring Special Provisions" contained in
	this proposal.
4.	The undersigned agrees to substantially complete the underground utility work on Oak Park Avenue
	between Harrison Street and Van Buren Street by May 7, 2021 so that this stretch can be opened to
	vehicular and pedestrian traffic and the remaining underground utility work north of the Van Buren
	intersection to Jackson Street and all Cured In Place Pipe (CIPP) work and achieve final completion
	by June 14, 2021 unless additional time is granted in accordance with the specifications.
5.	Accompanying this proposal is either a bid bond on the Village Bond form or a proposal guaranty
	check, complying with the specifications, made payable to the Village of Oak Park. The amount of the
	check is(\$).
6.	If this proposal is accepted and the undersigned fails to execute a contract and contract bond as
	required, it is hereby agreed that the Bid Bond or check shall be forfeited to the awarding authority.
7.	Each pay item should have a unit price and a total price.
8.	The unit price shall govern if no total price is shown or if there is a discrepancy between the results of
	unit price multiplied by the quantity.

9. If a unit price is omitted, the total price will be divided by the quantity in order to establish a unit price.

10. A bid will be declared unacceptable if neither a unit price nor a total price is shown.

- 11. The undersigned firm certifies that it has not been convicted of bribery or attempting to bribe an officer or employee of the State of Illinois, nor has the firm made an admission of guilt of such conduct which is a matter of record, nor has an official, agent, or employee of the firm committed bribery or attempted bribery on behalf of the firm and pursuant to the direction or authorization of a responsible official of the firm. The undersigned firm further certifies that it is not barred from bidding on this contract as a result of a conviction for the violation of State laws prohibiting bid-rigging or bid-rotating.
- 12. This Contract is subject to "An act regulating wages of laborers, mechanics, and other workers employed in any public works by the State, County, City or any other public body or any political subdivision or by anyone under contract for public works". (see Special Provision for details).

Special Note: The Prevailing Wage Act / Federal Requirements require maintaining and submitting Certified Payroll records monthly for all entities working on this project.

13. Proposal Guaranty Check:

Attach Cashier's Check or Certified Check Here

In the event that one proposal guaranty check is intended to cover two or more proposals, the amount must be equal to the sum of the proposal guaranties that would be required for each individual proposal.

If the proposal guaranty check is placed in another proposal; state below where it can be found.

The proposal quaranty check will be found in the proposal for: Village of Oak Park

Project 21-19 Oak Park Avenue Water And Sewer Main Improvements – South Contract



IV

CONTRACTOR CERTIFICATIONS

- A. The undersigned hereby certifies that said vendor is not barred from bidding on the aforementioned contract as a result of a violation of either Section 33E-3 or 33E-4 of Article 33E of Chapter 38 of the Illinois Revised Statutes or Section 2-6-12 of the Oak Park - Village Code relating to "Bidding Requirements".
- B. The individual or entity making the foregoing proposal of bid certifies that he/she is not barred from contracting with the Village of Oak Park because of any delinquency in the payment of any tax administrated by the Department of Revenue unless the individual or entity is contesting, in accordance with procedures established by the appropriate revenue act, liability for the tax or the amount of the tax. The individual or entity making the proposal or bid understands that making a false statement regarding delinquency in taxes is a Class A misdemeanor and, in addition, voids the contract and allows the Municipality to recover all amounts paid to the individual or entity under the Contract in Civil action.
- C. The undersigned firm certifies that it has not been convicted of bribery or attempting to bribe an officer or employee of the State of Illinois and the Village of Oak Park, nor has the firm made an admission of guilt of such conduct which is a matter of record, nor has an official, agent, or employee of the firm committed bribery or attempted bribery on behalf of the firm and pursuant to the direction or authorization of a responsible official of the firm. The undersigned firm further certifies that it is not barred from bidding on this contract as a result of a conviction for the violation of State laws prohibiting bid-rigging or bid-rotating.
- D. The undersigned firm certifies that it is in compliance with House Bill 3337 which creates a Drug Free Workplace Act for Illinois with an effective date of January 1, 1992.

Organization Name
(Seal - If Corporation) By: Authorized, Signature
490 Topsoil Drive West Chicago, Il 60185 Address
<u>630-512-99</u> 00 Telephone
Subscribed and sworn to before me this day of
In the State of Illinois My Commission Expires: 01/21/2021. Official Seal Bandra L Chiquet Motory Public, State of Minole Du Page County My Commission Expires 07/19/2021 (Complete Applicable Paragraph Below)
(a) Corporation The Vendor is a corporation, which operates under the legal name of Swellow Count. Corporation and is organized and existing under the laws of the State of The full names of its Officers are:
Secretary Anthony Rendine Treasurer Anthony Rendina
The comparation does have a comparate seal. (In the event that their proposal is

The corporation does have a corporate seal. (In the event that their proposal is executed by a person other than the President, attach hereto a certified copy of that section of Corporate By-Laws or other authorization by the Corporation that permits the person to execute the offer for the corporation.)

RETURN THIS PAGE WITH BID

7~1					
Name	Long Rendine Pres. 334-70-2457/2535-0007-3056	DIII.ho!			
Pleas of Iss	er and / or Company Officer Information: e provide the Name, Social Security Number, Drivers License Number and State uance of Company Owner and / or Officers.				
	Sole Proprietor				
	Signed:				
	in the county of				
	which name is registered with the office of				
	a trade name, said trade name is,				
	If the Vendor is operating under				
(c)	Sole Proprietor The Vendor is a Sole Proprietor whose full name is				
	the office of in the county of				
	, which name is registered with				
	The partnership does business under the legal name of				

CONTRACTOR'S CERTIFICATION

Such Conest. Conest., as part of its proposal on a contract for (name of contractor) Weder and Suck Mein to the Village of Oak Park, hereby (general description of item(s) proposal on)
certifies that said contractor is not barred from proposing on the aforementioned
contract as a result of a violation to either Section 33E-3 or 33E-4 of Article 33E of
Chapter 38 of the Illinois Revised Statutes or Section 2-6-12 of the Oak Park Village
Code relating to "Proposing Requirements".
(Authorized Agent of Contractor) Anthony Runding, President
Subscribed and sworn to
before me this day of
February, 2021.
Fandra & Chigaster Notary Public

RETURN THIS PAGE WITH BID

Official Seal
Sandra L Chiquet
Notary Public, State of Hinole
Du Page County
My Commission Expires 07/12/2021

CONTRACTOR'S CERTIFICATION (cont.)

Swellow Const. Corp., as part of its proposal on a contract for (name of contractor)
(general description of item(s) proposal on)
certifies that said contractor is in compliance with House Bill 3337 which creates a Drug
Free Workplace Act for Illinois with an effective date of January 1, 1992.
By:
(Authorized Agent of Contractor)
Anthony Ronding, Pres.
Subscribed and sworn to
before me this day of
February, 2021.
Sandra A Chart Notary Public
Official Seal Sandra L Chiquet Notary Public, State of Illinots Du Page County My Commission Expires 07/12/2021

RETURN THIS PAGE WITH BID

TAX COMPLIANCE AFFIDAVIT

Anthony Randina, being first duly sworn, deposes and
says: that he/she is
Swellow Conest. Corp. (contractor)
The individual or entity making the foregoing proposal or proposal certifies that he/she is not barred from contracting with the Village of Oak Park because of any delinquency in the payment of any tax administered by the Department of Revenue unless the individual or entity is contesting, in accordance with the procedures established by the appropriate revenue act, liability for the tax or the amount of the tax. The individual or entity making the proposal or proposal understands that making a false statement regarding delinquency in taxes is a Class A Misdemeanor and, in addition, voids the contract and allows the municipality to recover all amounts paid to the individual or entity under the contract in civil action.
(Name of Contractor if the Contractor is an Individual) (Name of Partner if the Contractor is a Partnership) (Name of Officer if the Contractor is a Corporation)
Anthony Rendine, Prasident
The above statement must be subscribed and sworn to before a notary public.
Subscribed and sworn to this day of February, 2021.
Notary Public
Official Seal Sendra L Chiquet Notary Public, State of lithols Du Page County My Commission Expires 07/12/2021

RETURN THIS PAGE WITH BID



Minority Business and Women Business Enterprises Requirements:

The Village of Oak Park in an effort to reaffirm its policy of non-discrimination, encourages and applauds the efforts of contractors and subcontractors in taking affirmative action and providing Equal Employment Opportunity without regard to race, religion, creed, color, sex, national origin, age, handicap unrelated to ability to perform the job or protected veteran's status.

Reporting Requirements:

The following forms must be completed in their entirety, notarized and included as part of the bid proposal document. Failure to respond truthfully to any question on this list or failure to cooperate fully with further inquiry by the Village of Oak Park will result in disqualification of your bid.

- VI. Fair Employment Practices Affidavit of Compliance
- VII. Village of Oak Park E.E.O. Report (2 Pages)

Disadvantaged Business Participation Reporting

In an effort to reaffirm its commitment to DBE participation the Village of Oak Park asks each general contractor bidding on Public Works Projects to report on their utilization of Minority and Women Business Enterprises. Please list the MBE/WBE companies working as sub-contractors and/or suppliers on the DBE participation statement included herewith. Feel free to make additional copies of this form if necessary and include with your bid.

FAIR EMPLOYMENT PRACTICES AFFIDAVIT OF COMPLIANCE

NOTE: Their affidavit must be executed and submitted with the signed proposal form. No proposals can be accepted by the Board of Trustees of the Village of Oak Park unless said affidavit is submitted concurrently with the proposal.

(name of person making		first duly sworn, depo	oses and s a ys that
(Title or Office)	of Swallow	(Name of Comparty)	and that he/she
has the authority to make th	e following affidavit;	that he/she has the k	nowledge of the
Village of Oak Park Ordinar	ce relating to Fair E	mployment Practices	and knows and
understands the contents th	ereof; that he/she co	ertifies hereby that	(Name of
company) is an "l	Equal Opportunity E	mployer" as defined b	y Section 2000
(E) of Chapter 21, Title 42 of	f the United States	Code Annotated and F	- Federal
Executive Orders #11246 a	nd #11375 which are	e incorporated berein-	by reference.
		A	
Subscribed and sworn to be	fore	Anthony "	Randine, Pras
me this day of, 2021			
Sandy & Chigat Notary Public			
Official Seal Sandra L Chiquet Notary Public, State of Illinois Du Page County My Commission Expires 07/12/2021	RETURN THIS PA	GE WITH BID	

VII

VILLAGE OF OAK PARK E.E.O. REPORT

Please fill out the form completely. Failure to respond truthfully to any questions on their form, or failure to cooperate fully with further inquiry by the Village of Oak Park will result in disqualification of proposal. An incomplete form will disqualify your proposal. For assistance in completing this form, contact Village Engineer Bill McKenna at (708) 358-5722.

1.	Vendor Name	e: anomon court. cons.
2.	Check here i	f your firm is:
		MBE
		WBE
		DBE
	\leq	Non-MBE/WBE
*Note	if your firm is	an M/WBE please fill out the attached affidavit (copies of all
certific	ation letters r	nust be included)
3.	What is the s	ize of the firm's current stable work force?
	17	Number of full-time employees
		Number of part-time employees
notice	ct. Forms will of contract av	nation will be <u>requested of all subcontractors working on their</u> I be furnished to the low responsible bidder or contractor with the ward, and these forms must be completed and submitted to the xecution of the contract by the Village.

RETURN THIS PAGE WITH BID

Minorities Total

Official Seal
Servira L Chiquet
Servira L Chiquet
Notery Public, State of lithrola
Du Page County
My Commission Expires 07/12/2021

Participation Statement

(1) Instructions

Refer to: Minority and Women Business Enterprise Participation Program Vendor Handbook.

Submit: Schedule C and Schedule D with Bid Documents, see pages 23-26 of the Vendor Handbook).

SCHEDULE C:

VILLAGE OF OAK PARK LETTER OF INTENT FROM MBE /WBE TO PERFORM AS A SUBCONTRACTOR, SUPPLIER AND/OR CONSULTANT

M/WBE Firm: JE LANDWORKS いろてり (Contract #:
Address: P.O. Box 47245 City/S	State/Zip: AUTORLA , IL 60507
Contact Person: ELIAS PEREZ Phone:	630-615-6445 Fax:
Certification Expiration Date: 1.51.2026	Race/Gender: WSPEOC
No [] Yes – Please attach explanation. Proposed Subcontractor:	the performance of this contract to another firm?
The undersigned M/WBE is prepared to provide the above named Project/Contract: Bないと アトリンム ムンワーン・シウェムア	le the following Commodities and or Services for
Indicate the <u>Total Dollar Amount</u> , the <u>Percer</u> described Commodities/Services: 23 \ভ০. 2%	ntage, and the Terms of Payment for the above-
Prime Bidder/Proposer declares and affirms the are true and correct and no material facts have	() () () () () () () () () ()
Signature (N/WBB) ELIAS PEREZ Print Name JE LANGUSORIES UNLIMITED INC.	Print Name Country Country
Firm Name	Firm Name // 30/21
Subscribed and sworn before me this 30* Signature of Notary Public	day of <u>Jameny</u> , 20 21,
My Commission expires on 7/13/20	IIS PAGE WITH BID
Official Seal Sandra L Chiquet Hotary Public, State of Illinote Du Page County	IIS PAGE WITH DID

SCHEDULE D: VILLAGE OF OAK PARK M/WBE PARTICIPATION AFFIDAVIT

Contract #: 21-19 Contract Value: \$
Contact Person: Anthony Rend Phone: 512-5500 Fax: 572-5961
Description of Commodities/Services to be provided by the Bidder/Proposer on this Contract:
Any questions regarding compliance with these requirements should be directed to:
Finance Department The Village of Oak Park, 123 Madison Street, Oak Park, Illinois 60302 PHONE: 708.358.5460, FAX: 708.358.5105.
(print name) hereby agree to comply with and be bound by the provisions to submit, as part of this bid/proposal, a detailed M/WBE Participation Plan with and at the time and place of the submissions of this bid/proposal; that the M/WBE Participation Plan is an element of bidder/proposer responsiveness and responsibility; and are incorporated as part of the contract; that heirs, executors, and administrators or assigns and any other persons or entities claiming by or through the bidder/proposer including but not limited to insurance companies, bonding companies, or sureties are bound by this agreement; and do declare and affirm that, to the best of my knowledge, information and belief, the facts and representations set forth in this M/WBE Participation Affidavit are true and correct, and that no material facts have been omitted. Author Print Pr
SUBSCRIBED AND SWORN before me this day of February, 2021, Signature of Notary Public
(SEAL)
Official Seel Sandre L Chicquet Notary Public, State of Windes Du Page County My Commission Endres 07/12/2021

SCHEDULE D: M/WBE PARTICIPATION AFFIDAVIT

M/WBE firms may participate in the performance of this contract, either DIRECTLY or

INDIRECTLY, as:
Prime Bidders/Proposers; Joint Venture Partners; Subcontractors; and/or Suppliers.

Name of MANAGE Firms		Bees / Condent
	anduorl	
Address: P.O. 73	r 4249	5
City/State/Zip:		60507
Telephone No.: 630-675		Fax:
I	Perez	· •
Dollar Amount: \$23,130.23	100 %	Schedule C attached? [M] Yes [] No
Description of Commodity/Serv	rice: Cand	scape + Bride Perers
Name of M/WBE Firm:		Race / Gender:
Address:		
City/State/Zip:		
Telephone No.:		Fax:
Contact Person:		
Dollar Amount: \$	%	Schedule C attached? [] Yes [] No
Description of Commodity/Serv	ice:	
Tip	· · · · · · · · · · · · · · · · · · ·	
Name of M/WBE Firm:		Race / Gender:
Address:		
City/State/Zip:		
Telephone No.:		Fax:
Contact Person:		
Dollar Amount: \$	%	Schedule C attached? [] Yes [] No
Description of Commodity/Serv	ice:	
T	•	
Total MBE \$ 23, 130.25 Total WBE \$		<u>%</u>
Grand Total MBE \$ 25,130.7	5	(00 %
Grand Total WBE \$		
	RETURN TI	HIS PAGE WITH BID

The undersigned affirms that the foregoing statements are true and correct and include all material information necessary to identify and explain the terms and operations of our joint venture and the intended participation of each partner in the undertaking. Further, the undersigned covenants and agrees to provide to the Village of Oak Park current, complete and accurate information regarding actual joint venture work and the payment therefore, and any proposed changes in any provision of the joint venture agreement, and to permit the audit and examination of the books, records and files of the joint venture, or those of each partner relevant to the joint venture by authorized representatives of the Village of Oak Park.

Any material misrepresentation will be grounds for terminating any contract which may be awarded and for initiating action under federal and state laws concerning false statements.

Note: If after filing this Schedule B and before the completion of the joint venture's work on the project, there is any change in the information submitted, the joint venture must submit a revised version of this document to the Village of Oak Park either directly, or through the prime contractor if the joint venture is a subcontractor.

Name of MBE/WBE Partner Firm	Name of non-MBE/WBE Partner Firm
Signature of Affiant	Signature of Affiant
Name and Title of Affiant	Name and Title of Affiant
Date	Date
On this day of	, 20, the above signed
officers	
(names of	faffiants)
	re the persons described in the foregoing Affidavit, ne in the capacity therein stated and for the purpose my hand and seal.
Signature of Notary Public	
Commission Expires:	(SEAL)
Contained on Expired.	
RETURN '	THIS PAGE WITH BID



Oak Park Avenue Water And Sewer Main Improvements – South Contract Project Number: 21-19

III

RETURN WITH BID

Village of Oak Park, IL Proposal Bid Bond

WE Swallow Construction Corporation. 490 Topsoll D as PRINCIPAL, a	Dr. West Chicago, IL 60185 and Old Republic Insurance Company
P.O. Box 789, Greensburg, PA 15801-0789	as SURETY,
the total bid price, or for the amount specified in Article	k, IL (hereafter referred to as "VOP") in the penal sum of 5% of e 102.09 of the "Standard Specifications for Road and Bridge s. We bind ourselves, our heirs, executors, administrators, s sum under the conditions of this instrument.
	OBLIGATION IS SUCH that, the said PRINCIPAL is submitting ling authority for the construction of the work designated as the
designated section and the PRINCIPAL shall within fifte	
requirements set forth in the preceding paragraph, ther	has failed to enter into a formal contract in compliance with any en the VOP acting through its awarding authority shall set out above, together with all court costs, all attorney fees, and
IN TESTIMONY WHEREOF, the said PRINCIPAL and their respective officers this 18th day of February	the said SURETY have caused this instrument to be signed by A.D. 20 21
	PRINCIPAL
Swallow Construction Corporation (Company Name)	(Company Name)
By: Anthony Perdina (Signature & Title)	(Signature & Title) he company names, and authorized signatures of each contractor must
be affixed.)	1
•	SURETY
(Name of Surety)	(Signature of Attorney-in-Fact) James I.Moore
STATE OF ILLINOIS, COUNTY OF	, a Notary Public in and for said county, do hereby certify
	is whose names are subscribed to the foregoing instrument on behalf of erson and acknowledged respectively, that they signed and delivered
Given under my hand and notary seal this	18th day of February A.D. 20 21
 Improper execution of this form (i.e. missing signatures or seals or incomplete certification) will result in bid being declared irregular. If bid bond is used in lieu of proposal guaranty check, it must be on this form and must be submitted with bid. 	SHERFY BACSKAL () ()
र राज्या कर जा साथ खास वास गावण घर करणाताच्य स्था। प्राप्त	Notary Public, State of the Sta



POWER OF ATTORNEY

KNOW ALL MEN BY THESE PRESENTS: That OLD REPUBLIC INSURANCE COMPANY, a Pennsylvania stock insurance corporation, does make, constitute and appoint:

James I. Moore

its true and lawful Attorney(s)-in-Fact, with full power and authority, not exceeding \$50,000,000, for and on behalf of the Company as surety, to execute and deliver and affix the seal of the Company thereto (if a seal is required), bonds, undertakings, recognizances or other written obligations in the nature thereof, (other than self-insurance workers compensation bonds guaranteeing payment of benefits, asbestos abatement contract bonds, waste management bonds, hazardous waste remediation bonds or black lung bonds), as follows: Execution Date: February 18, 2021

Surety Bond Number: Bid Bond

Principal: Swallow Construction Corporation

Obligee: Village of Oak Park

and to bind OLD REPUBLIC INSURANCE COMPANY thereby, and all of the acts of said Attorneys-in-Fact, pursuant to these presents, are ratified and confirmed. This appointment is made under and by authority of the board of directors at a meeting held on March 14, 2014. This Power of Attorney is signed and sealed by facsimile under and by the authority of the following resolutions adopted by the board of directors of the OLD REPUBLIC INSURANCE COMPANY on March 14, 2014.

RESOLVED FURTHER, that the chairman, president or any vice president of the Company's surety division, in conjunction with the secretary or any assistant secretary of the Company, be and hereby are authorized and directed to execute and deliver, to such persons as such officers of the Company may deem appropriate. Powers of Attorney in the form presented to and attached to the minutes of this meeting, authorizing such persons to execute and deliver and affix the seal of the Company to bonds, undertakings, recognizances, and surelyship obligations of all kinds, other than bail bonds, bank depository bonds, mortgage deficiency bonds, mortgage guaranty bonds, guarantees of installment paper and not guaranty bonds. The said officers may revoke any Power of Attorney previously granted to any such person. The authority of any Power of Attorney granted by any such officer of the Company as aforesaid shall not exceed fifty million dollars (\$50,000,000.00), except (a) bonds required to be filed as open penalty bonds, and (b) bonds filed with any court or governmental authority requiring an unlimited penalty in bonds filed in that court.

RESOLVED FURTHER that any bond, undertaking, recognizance, or suretyship obligation shall be valid and binding upon the Company

- (i) when signed by chairmen, president or anyvice president of the Company's surety division and attested and sealed (if a seal be required) by any secretary or assistant secretary; or
- (ii) when signed by a duly authorized Attorney-in-Fact and sealed with the seal of the Company (if a seal be required).

RESOLVED FURTHER, that the signature of any officer designated above, and the seal of the Company, may be affixed by facsimile to any Power of Attorney or certification thereof authorizing the execution and delivery of any bond, undertaking, recognizance, or other suretyship obligations of the

Company, and such signature and seal when s	o used shall have the same force and effec	t as though manually affixed.
a a	NSURANCE COMPANY has caused these portion of the company in the caused these portions are caused the caused th	presents to be signed by its proper officer, and its corporate seal to
be affixed this 1St day of	Octobel 2016	OLD REPUBLIC INSURANCE COMPANY
Jane E. Phenny	SEAL)	Our Mic
Assistant Secretary	13	Vice President
STATE OF WISCONSIN, COUNTY OF WAUKESH	A-SS	
On this 1st day of October	, 2018, personally car	me before me, Alan Pavilc
and Jane E Cherney		dividuals and officers of the OLD REPUBLIC INSURANCE
and say: that they are the sald officers of the corpora	ation aforesaid, and that the seal affixed to	of the same, and being by me duly sworn, did severally depose the above instrument is the seal of the corporation, and that said is instrument by the authority of the board of directors of said
		Kotherze R. Georson
		My Commission Expires: September 28, 2022
CERTIFICATE	(Expira	tion of notary's commission does not invalidate this instrument
I, the undersigned, assistant secretary of the		NY, a Pennsylvania corporation, CERTIFY that the foregoing and one, that the Resolutions of the board of directors set forth in the
SEAL) Signe	ed and sealed at the City of Brookfield, WI t	this 18th day of February 2021.
ORSC 11008 (8-93)		Assistant Secretary

ADDENDUM NO. 1

January 25, 2021

OAK PARK AVENUE WATER AND SEWER MAIN IMPROVEMENTS – SOUTH CONTRACT

PROJECT NO. 21-19
VILLAGE OF OAK PARK
PUBLIC WORKS CENTER
201 SOUTH BLVD

COOK COUNTY, ILLINOIS

PROPOSAL DUE DATE: 10:00 AM, February 1, 2021

This addendum forms a part of the Contract Documents and amends the original documents and the Plans and Special Provisions. Where any part of the contract documents is amended, the unaltered provisions are to remain in effect.

This is the only notice you receive, with no follow up by mail. Please CONFIRM

receipt of this addendum by phone, fax or email.

- 1. Replace pages 6-9 of the proposal book with the attached pages 6-
 - 9. All submitted SOQ pages must show "ADDENDUM NO. 1" at the bid opening. The Schedule of Quantities is amended as followed:
 - a. Item 18 "PAVEMENT REMOVAL" quantity has changed from 1,504 to 1,539 square yards.
 - b. Item 23 "REMOVAL & DISPOSAL OF UNSUITABLE MATERIAL" quantity has changed from 3 to 30 cubic yards.
 - c. Item 25 "DUST CONTROL WATERING" quantity has changed from 1,726 to 1,752 sq yd.
 - d. Item 28 "BITUMINOUS MATERIAL (TACK COAT)" quantity has changed from 339 to 345 pounds.
 - e. Item 29 "HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50" quantity has changed from 304 to 313 tons.
 - f. Item 35 "SUBBASE GRANULAR MATERIAL, TYPE B" quantity has changed from 62 to 71 cubic yards.
 - g. Added Item 46 "COMBINED SEWERS, 6" PVC SDR-26, ASTM D-2241 (SPECIAL)".
 - h. Added Items 51-53 "LATERAL SERVICE SPOT REPAIR, 6"",
 "LATERAL SERVICE SPOT REPAIR, 8"" and "LATERAL
 SERVICE CONNECTION REPAIR INSIDE MAIN SEWER".
 - i. Item 59 "WATER SERVICE INSTALLATION 1"" has changed from 42 to 41.

- j. Item 60 "WATER SERVICE INSTALLATION 1.5"" has changed from 3 to 4.
- k. Item 75 "WATER SERVICE LINE, 1", COPPER" has changed from 1,310 to 1,302 linear feet.
- I. Item 76 "WATER SERVICE LINE, 1.5", COPPER" has changed from 95 to 103 linear feet.
- m. Item 91 "CHANGEABLE MESSAGE SIGN" quantity has changed from 98 to 188 calendar days.
- n. Item 100 "NON-SPECIAL WASTE DISPOSAL" quantity has changed from 235 to 400 cubic yards.
- o. Removed Items 97 and 98 "SPECIAL WASTE DISPOSAL" AND "SPECIAL WASTE GROUNDWATER DISPOSAL".
- p. Revised numbering of Items 46-110 to reflect above items.
- 2. Special Provision #14 "SUB-BASE GRANULAR MATERIAL TYPE B" shall be revised to state "This material will be installed a minimum of two inches (2") in thickness at locations where sidewalk and curb are proposed and a minimum of four inches (4") in thickness in other locations (i.e. driveways, mudslabs, etc.)..."
- 3. Special Provision #15 "AGGREGATE BASE COURSE, TYPE B" shall be revised to state "a minimum of <u>six</u> inches (6")...".
- 4. Special Provision #40 "CIPP Lining" was revised on page 2 (1.b) to remove reference to cutting offset pipe joints and add cutting existing tree roots, on page 4 (2.c) to remove the sealing requirements at service connections, on page 5 (2.g) to clarify what sewer laterals are to be instated and on page 12 (5.a) to clarify the groundwater depth and soil modulus for design.
- 5. Special Provision #55 "REMOVAL AND DISPOSAL OF REGULATED SUBSTANCES" was revised.
- 6. Added Special Provision #57 "LATERAL SEWER SERVICE REPAIR".
- 7. Added Special Provision #58 "COMBINED SEWERS, 6" PVC SDR-26, ASTM D-2241 (SPECIAL)".
- 8. Replace Sheet 4-5 of the plans due to SOQ updates 1.a-p above.
- 9. Replace Sheet 6-7, 14-16, and 19-20, of the plans due to pavement trench width revisions.
- 10. Replace sheets 21-26 of the plans due to adding the following note: "Lateral sewer service repairs are required along the main sewer CIPP lining. Lateral Sewer Service Repair locations

and methodology is indicated in the Lateral Sewer Service Repair special provision. See special provision for details and locations."

- 11. Replace Sheet 28 of the plans due to increased water service size at 717 S Oak Park Ave.
- 12. Replace Sheet 33 of the plans due to added detail "LATERAL SERVICE SPOT REPAIR 6" OR 8"".

The bid date has not changed. Bid date is February 1, 2021 at 10am.

I acknowledge the receipt of this addendum by signing the acknowledgement and emailing a copy to derickson@terraenqineering.com and bkutz@oak-park.us This addendum needs to be signed and included with bid.

Failure to properly acknowledge this addendum as noted above may result in disqualification of the associated bid.

I acknowledge the receipt of Addendum No. 1 for the referenced project: Signed:

End of Addendum No. 1

Name

Company Swallow Construction Corporation



Contact Quest

Logout

The Construction Industry's Premier Bid Management System
• Home
• Bid Requirements
• Bid Letting
• Item Codes

Chris	Kim

n & Sons Sewer er, Inc.
Doca
Accepted
e Extension
nte

\$89,000.00

\$2,415,523.75

\$2,608,695.50

\$2,743,740.00

Post Prelim Bld Tabs	Export to CSV	Done
		Name and Address of the Owner, which we have a second

Base Bid Total:

	Oak Park Ave Water and Sewer Main Improvements - South		-				6
21-19	Contract				er Estimate		v Construction
	Line Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
	1 Valve Box To Be Removed	EA	1 1	\$280.00	\$280.00	\$250.00	\$250.0
	2 Fire Hydrants To Be Removed	EA	3		\$1,800.00	\$250.00	\$750.0
	3 Cut & Cap Existing 4" Water Main	EA	2		\$10,000.00	\$250.00	\$500.0
	4 Cut & Cap Existing 6" Water Main	ŧΑ	2		\$10,000.00	\$3,500.00	\$7,000.0
	5 Valve Vault To Be Filled	EA	1		\$325.00	\$300.00	\$300.0
	6 Valve Vault To Be Removed	EA	1		\$475.00	\$625.00	\$625.0
	7 Manhole To Be Removed	ĘΑ	7		\$2,100.00	\$625.00	\$4,375.
	8 Inlet To Be Removed	EA	6		\$690.00	\$100.00	\$600.0
	9 Tree Root Pruning	EA	15	\$150.00	\$2,250.00	\$95.00	\$1,425.
	10 Tree Pruning (1 to 10 Inch Diameter)	EA	1	\$130.00	\$130.00	\$225.00	\$225.
	11 Tree Pruning (Over 10 Inch Diameter)	EA	3	\$150.00	\$450.00	\$325.00	\$975.
	12 Tree Trunk Protection	EA	17	\$125.00	\$2,125.00	\$60.00	\$1,020.
	13 Temporary Fence	LF	660	\$5.00	\$3,300.00	\$4.50	\$2,970.
	14 Remove And Install Clay Pavers	5F	1394	\$10.00	\$13,940.00	\$16.50	\$23,001.
	15 Remove And Install Clay Pavers (Full Depth)	SF	103	\$34.00	\$3,502.00	\$20.25	\$2,085
	16 Sidewalk Removal	ŠF	1116	\$2.50	\$2,790.00	\$0.35	\$390
	17 Combination Curb & Gutter Removal	LF	222	\$20.00	\$4,440.00	\$1.50	\$333.
	18 Pavement Removal	SY	1539	\$20.00	\$30,780.00	\$5.25	\$8,079
	19 Remove and Re-Erect Existing Sign	EA	1	\$250.00	\$250.00	\$425.00	\$425.
	20 Parking Meters To Be Moved	EA	1	\$4,600.00	\$4,600.00	\$1,250.00	\$1,250.
	21 Remove and Reset Existing Light Pole	EA	1	\$12,000.00	\$12,000.00	\$15,000.00	\$15,000.
	22 Earth Excavation	CY	27	\$40.00	\$1,080.00	\$55.00	\$1,485.
	23 Removal & Disposal Of Unsuitable Material	CY	30	\$50.00	\$1,500.00	\$20.00	\$600.
	24 Inlet Filters	ΕA	61	\$130.00	\$7,930.00	\$142.00	\$8,662.
	25 Dust Control Watering	SY	1752	\$4.50	\$7,884.00	\$3.25	\$5,694
	26 Portland Cement Concrete Sidewalk 5 Inch	SF	543	\$6.50	\$3,529.50	\$9.00	\$4,887.
	Portland Cement Concrete Sidewalk 5 Inch						
	27 (Special)	SF	573	\$13.00	\$7,449.00	\$19.00	\$10,887.
	28 Bituminous Materials (Tack Coat)	LB	349		\$1,035.00	\$0.01	\$3
	29 Hot-Mix Asphalt Binder Course, IL-19.0, N50	TON	313		\$46,950.00	\$113.00	\$35,369
	30 Aggregate Base Course, Type B	CY	14		\$161.00	\$35.50	\$497.
	31 Portland Cement Concrete Base Course 8"	SY	1504		\$105,280.00	\$70.00	\$105,280
	Combination Concrete Curb and Gutter, Type B-	17.		Ţ. 0.0g	111111111111		
	32 6.12 (Modified)	LF	227	\$23.00	\$5,106.00	\$42.00	\$9,324.
	Protective Coat and Curing of P.C. Concrete, Single		1 224	423.00	95,255.50	7.2.00	<i>\$5,564</i>
	33 Application	SY	96	\$2.00	\$192.00	\$11.20	\$1,075.
	34 Parkway Restoration	SY	97		\$1,940.00	\$21.00	\$2,037.
	34 Parkway Restoration 35 Subbase Granular Material, Type B	CY	71		\$3,266.00	\$36.50	\$2,037.

	Oak Park Ave Water and Sewer Main Improvements - South						4	
21-19	Contract		\bot			er Estimate		v Construction
	Line Item	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
	36	Catch Basin, Type A, 4'-Diameter, Type 1 Frame, Open Ud	EA		\$4,750.00	\$33,250.00	\$2,650.00	\$18,550.0
	37	Connection To Existing Manholes	EA	1	\$1,750.00	\$1,750.00	\$3,500.00	\$3,500.0
	38	Connection To Existing Drop Manhole	LS	1	\$7,500.00	\$7,500.00	\$13,500.00	\$13,500.0
	39	Connection To Existing Catch Basin	EA	2	\$1,750.00	\$3,500.00	\$4,500.00	\$9,000.0
	40	Connection To Existing Sewer	EA	3	\$2,150.00	\$6,450.00	\$3,000.00	\$9,000.0
		Manholes, Type A, 4'-Diameter, Type 1 Frame,	Ī					ì
	41	Closed Lid	EA	4	\$4,500.00	\$18,000.00	\$6,650.00	\$26,600.0
	42	Manhole To Be Reconstructed With Shotcrete	EA	9	\$3,850.00	\$34,650.00	\$3,000.00	\$27,000.0
	43	Sewer Lateral and Reconnection, 6" PVC SDR-26, ASTM D-2241	LF	330	\$195.00	\$64,350.00	\$400.00	\$132,000.0
	44	Sewer Lateral and Reconnection, 8" PVC SDR-26, ASTM D-2241	LF	22	\$215.00	\$4,730.00	\$525.00	\$11,550.0
	45	Sewer Lateral and Reconnection, 10" PVC SDR-26, ASTM D-2241	LF	4	\$195.00	\$780.00	\$250.00	\$1,000.0
	46	Combined Sewers, 6" PVC SDR-26, ASTM D-2241 (Special)	LF	102	\$700.00	\$71,400.00	\$110.00	\$11,220.0
	47	Combined Sewers, 12" PVC 5DR-26, ASTM D-2241	LF	33	\$265.00	\$8,745.00	\$65.00	\$2,145.0
	48	Combined Sewers, 30" PVC C905	LF	503	\$315.00	\$158,445.00	\$200.00	\$100,600.0
	49	Cured-in-Place Pipe (CIPP) Uner, 24"x36" Brick Sewer	ĿF	1182	\$160.00	\$189,120.00	\$185.00	\$218,670.0
	50	Cured-In-Place Pipe (CIPP) Liner, 32"x48" Brick Sewer	LF	1284	\$260.00	\$333,840.00	\$225.00	\$288,900.0
	51	Lateral Service Spot Repair, 6"	EA	13	\$5,600.00	\$72,800.00	\$6,150.00	\$79,950.0
	52	Lateral Service Spot Repair, 8"	EA	1	\$6,500.00	\$6,500.00	\$6,750.00	\$6,750.0
	53	Lateral Service Connection Repair Inside Main Sewer	EA	18	\$2,500.00	\$45,000.00	\$8,000.00	\$144,000.0
-	54	Storm Sewers, 6" PVC SDR 26 ASTM D-2241	LF	43		\$10,062.00	\$300.00	\$12,900.0
	-	Storm Sewers, 8" PVC SDR 26 ASTM D-2241	LF	42		\$9,828.00	\$275.00	\$11,550.0
		Storm Sewers , 6" DIP	LF	19		\$5,035.00	\$300.00	\$5,700.0
		Storm Sewers , 8" DIP	LF	93		\$24,645.00	\$225.00	\$20,925.0
		Storm Sewers, 10" DIP	LF	19	· ·	\$4,275.00	\$150.00	\$2,850.6
		Water Service Installation 1"	EA	41		\$71,750.00	\$2,300.00	\$94,300.0
		Water Service Installation 1.5"	EA	4		\$10,000.00	\$3,250.00	\$13,000.0
		Water Service Installation 2"	EA	2		\$7,000.00	\$2,125.00	\$4,250.0
	62	Water Service Installation 4"	EA	1		\$8,500.00	\$5,000.00	\$5,000.0

21-19	Oak Park Ave Water and Sewer Main Improvements - South Contract Line Item Description		UofM	Quantity	Facion	5	Suralla.	
					Engineer Estimate Unit Price Extension		Swallow Construction Unit Price Extension	
		Water Service Installation 6"	EA	Quantity	\$9,250.00	\$37,000.00	\$2,500.00	\$10,000.0
		Water Service (Special)	EA	5		\$31,250.00	\$3,500.00	\$17,500.0
		8"x12" Tap Tee with 8" Tap Valve	EA	1 2		\$22,500.00	\$7,250.00	\$14,500.0
	_	Fire Hydrant Type A	EA	3		\$19,500.00	\$9,300.00	\$27,900.0
		Fire Hydrant Type B	EA	1 1	10,000.00	\$9,500.00	\$13,000.00	\$13,000.0
		Gate Valve, 4"	EA	1	\$4,250.00	\$4,250.00	\$650.00	\$650.0
		Gate Valve, 6"	EA	1 1		\$5,750.00	\$825.00	\$825.
		Gate Valve, 8"	EA	1 1	\$7,500.00	\$7,500.00	\$1,350.00	\$1,350.
		Gate Valve, 12"	EA	1 3		\$30,000.00	\$3,250.00	
	_	Valve Box	EA	1 1		\$650.00	\$250.00	\$9,750. \$250.
		Valve Vaults, 4'-Diameter	EA	1 2		\$6,500.00	\$250.00	
		Valve Vaults, 4 - Diameter	EA					\$1,000
			LF	3		\$11,250.00	\$500.00	\$1,500.
		Water Service Line, 1*, Copper		1302	\$30.00	\$39,060.00	\$28.75	\$37,432
		Water Service Line, 1.5", Copper	LF LF	103		\$4,944.00	\$31.50	\$3,244
		Water Service Line, 2", Copper	UF.	88	\$60.00	\$5,280.00	\$36.50	\$3,212
	78	Metallic Zinc Coated Ductile Iron Water Service Line 4" Encased In V-Bio Enhanced Polyethylene Plastic	LF	14	\$190.00	\$2,660.00	\$75.00	\$1,050
	79	Metallic Zinc Coated Ductile Iron Water Service Line 6" Encased In V-Bio Enhanced Polyethylene Plastic	LF	43	\$200.00	\$8,500.00	\$30.00	\$1,290
	80	Metallic Zinc Coated Ductile Iron Water Main 8" Encased In V-Bio Enhanced Polyethylene Plastic	LF	14	\$205.00	\$2,870.00	\$125.00	\$1,750.
	81	Metallic Zinc Coated Ductile Iron Water Main 12" Encased in V-Bio Enhanced Polyethylene Plastic	LF	1211	\$235.00	\$284,585.00	\$120.00	\$145,320
	82	Misellaneous Fittings	LB	2500	\$5.00	\$12,500.00	\$0.01	\$25.
	83	Field LOK Gaskets for DI Water Main, 12"	EA	10	\$420.00	\$4,200.00	\$140.00	\$1,400
	84	Viton Gaskets, 6"	EA	1	\$100.00	\$100.00	\$80.00	\$80
	85	Viton Gaskets, 12"	ĒΑ	17	\$360.00	\$6,120.00	\$345.00	\$5,865
	86	Trench Backfill	CY	1381	\$45.00	\$62,145.00	\$35.50	\$49,025
	87	Exploratory Excavation	CY	30	\$165.00	\$4,950.00	\$60.00	\$1,800
		Short Term Pavement Marking	LF	2500	\$1.50	\$3,750.00	\$1.25	\$3,125
		Short Term Pavement Marking Removal	SF	1600	\$1.25	\$2,000.00	\$1.25	\$2,000
		Project ID Sign	EA	1	\$750.00	\$750.00	\$1,000.00	\$1,000
		Changeable Message Sign	CAL DA	188	\$40.00	\$7,520.00	\$26.00	\$4,888

21-19	Oak Park	Ave Water and Sewer Main Improvements - South Contract	<u> </u>	$\overline{}$	Facilities Facilities		Swallow Construction	
21-19	Line Item Description		UofM	O . markin .	Engineer Estimate Unit Price Extension		Unit Price	
	Line item	Item Description	UDIN	Quantity	Unit Price	extension	Onk Price	Extension
	92	Maintenance of Existing Traffic Signal Installation	EA	1	\$15,000.00	\$15,000.00	\$15,500.00	\$15,500.00
	93	Maintenance of Roadways	LŞ	1	\$9,000.00	\$9,000.00	\$7,500.00	\$7,500.00
	94	Temporary Information Signing	SF	40	\$22.00	\$880.00	\$19.00	\$760.00
	95	Aggregate for Temporary Access	TN	23	\$20.00	\$460.00	\$36.00	\$828.00
	96	Bituminous Mixture for Maintenance	SY	35	\$30.00	\$1,050.00	\$50.00	\$1,750.00
	97	Hot-Mix Asphalt Mixture for Maintenance	TN	13	\$180.00	\$2,340.00	\$182.00	\$2,366.00
	98	Regulated Substances Pre-Construction Plan	کا	1	\$2,250.00	\$2,250.00	\$500.00	\$500.00
_	99	Regulated Substances Monitoring	CAL DA	30	\$750.00	\$22,500.00	\$23.50	\$705.00
_	100	Non-Special Waste Disposal	CY	400	\$90.00	\$36,000.00	\$10.00	\$4,000.00
	_	Regulated Substances Final Construction Report	LS	1	\$6,000.00	\$6,000.00	\$500.00	\$500.00
		Pedestrian Traffic Control	کا	1 1	\$40,000.00	\$40,000.00	\$3,000.00	\$3,000.00
		Traffic Control and Protection (Special)	کا	1	\$240,000.00	\$240,000.00	\$282,000.00	\$282,000.00
		Mobilization	کا	1 1	\$250,000.00	\$250,000.00	\$100,000.00	\$100,000.00
		Construction Layout (Special)	كا	1 1	\$12,000.00	\$12,000.00	\$8,500.00	\$8,500.00
	106	Leak Detection Survey and Report	كا	1	\$14,000.00	\$14,000.00	\$3,500.00	\$3,500.00
	107	Lead Water Service Pipe Replacement - From Curb Stop to Water Meter, 1"	EA	7	\$4,000.00	\$28,000.00	\$4,000.00	\$28,000.00
	108	Lead Water Service Pipe Replacement - From Curb Stop to Water Meter, 1.5"	EA	1	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
		Lead Water Service Pipe Replacement - From Curb Stop to Water Meter, 2"	EA	1	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00
	110	Contingency Cash Allowance	یا	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00
Total Bid				 		\$2,889,598.50	 -	\$2,415,523.75